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Set Id : 62419 33 BATCH1_D.ELEd. Odia_11NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

A veteran newsman, Nash glanced up from his computer screen and glared in her direction. He
seemed to sense this wasn't a social visit. His shoulders rose with a weary sigh. “What now?” he
growled.

“I'm handing in my two-week notice.” If she’d been looking for a response, she would have been
disappointed.

He blinked a couple of times, ran his hand down the side of his day-old beard, and asked, “Any
particular reason?”

‘I hoped to prove | can be a darn good reporter, but I'll never get the chance writing anything more
than copy for society weddings. You said when you hired me that you'd give me a shot at reporting
real news.”

‘I don’t remember what | said. What's wrong with what you’re writing now? You're good.”

“It isn't what | want to write.”

1) What did the speaker want?

A) To write about society weddings
B) To report real news

C) To be an editor

D) To look at the computer

2) What did the speaker submit to Nash?

A) News report
B) Resignation
C) Wedding report
D) Documents

3) Why had the speaker take up the job?

Paae1of40
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A) To pay her bills

B) To create sports reports
C) To prove herself

D) To report weddings

4) What had Nash promise the speaker?

A) To pay her more
B) To be an editor
C) To work harder

D) A chance to report real news

5) What did Nash seem to notice?

A) That the visit was not social

B) That the speaker wanted to resign
C) The work was important

D) The newspaper was not doing well

6) Fill in the blank with the correct option:

Due to a very good performance, Sanjeev got a good
for promotion.

A) raise, race
B) raze, raise
C) raise, rays
D) race, rays

7) The phrase "Notch something up" means

A) To lose in a game

B) To play for participation and not for the prize
C) To achieve a win or a high score
D) To achieve nothing in life

8) Fill in the blank with correct prefix or suffix:

this year however, he is not in the
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His wife prefers market boutiques.

A) in
B) up
C)on
D) sub

9) Which of the following words is correctly spelt?

A) reminisent
B) reminiscent
C) remainiscent
D) remainicent

10) Which of the following alternatives explains the phrase "labour under something"?

A) to be or not to be

B) to do the right thing at the right time
C) to toil hard for the truth

D) to believe something that is not true
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following animals is the symbol of WWF- India (World Wide Fund For Nature India)?

A) Blue Whale
B) Giant Panda
C) Peacock

D) Tiger

11) FIRYR calig 604 ago 0QEIT- AIGe (978 wIee g SQRUIAN TIg) Q 9S1@ 26T ?

A) @@ 64

B) aieeio ag
C) 79

D) @@

12) Which of the following event raised tensions between Indian and China over Tibet?

A) China created the Tibet autonomous region, which is an integral part of China

B) When the Panchsheel agreement was signed between India and China in 1954, India
conceded China’s claim over Tibet

C) The Tibetan spiritual leader Dalai Lama accompanied the Chinese Premier Zhou Enlai during
the official Chinese visit to India in 1956

D) In 1959, the Dalai Lama crossed over into the Indian border and sought asylum which was
granted by India

12) GRde aodl AMIQ 6REE 0907 696 QIR I6° 918 AdIea 6961 98 aafial ?

A) oR 08¢ Ardlde roe 98 @Qi@, dI9l 910 o 9F AFERDY 2

B) 6460696 € C8Y ATLIER RIRS 4° P17 FUIER CPOGR 98 AUNGE 6LIRZR, EUCHERER HRE AUER F1F @ IGG RIGE ARG
Q2|

C) ¢ecus» (139160 QINER LRIl 612 AANER Sae1a ZRNIGR 696! YAIR AIFl o1a. AU 6al Ngles 996 Cinflen |
D) e8¢ F1d9160, QAN Wl URFIG AIF IR 621R 2IFH 69aden CISg RS A6 6Ll |

13) A formal association between two educational institutions is called -
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A) accreditation
B) certification
C) affiliation

D) partnership

13) Q@f da1g9a A6Q Y@ ALVER ANAQ QLIAI -

A) AIRYQ!
B) gauaa

C) qaeee
D) dealgial

14) The Hunter Commission was constituted primarily to enquire into the implementation of the

A) Hartog Commission
B) Sadler Commission
C) Wood's Despatch
D) Wardha Scheme

14) w216 QIGIFIES! G060 2QARIR R IR JHINES 6Q RFER G0 FQUARAR

A) 216916 adian
B) Aeaq @IS,
C) @94 69Q9IQ
D) 481 6a1%Q!

15) The report of the National Commission on Self-employed Women and Women of the Informal
Sector was called

A) Naari Shakti
B) Karma Shakti
C) Yuva Shakti
D) Shram Shakfi

15) agr 3gs 0@aI 9o 6RIUFIAR caea NPpie AUER AR FIS1E ZICAIGIE fsaisy Nel gRlaRdal
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A) Q61 82
B) @¢ 63
C) 9Ql 68
D) g¢ 8=
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) How many pairs of letters are there in the word "WONDERLAND' which have the same number
of letters between them as in the alphabetic order?

A) 1

B) 3

C)2

D) 4

16) '"WONDERLAND' sa6a 6@601G 9o 2aa EIRE, 12l auica a4l @A6a A ereie 28 28 |

A) 1
B) 3
C)2
D) 4

17) In a certain code language, if the number 25785 is coded as 34876, then how will the number
35682 be coded in that language?

A) 44773
B) 46693
C) 44583
D) 46683

17) q@ 684 6Q1Q QIGIa, 9% 9891 8 QGG NET 99 QUINER 6@IQ CIRE, 6060 639 QTR MBI 9 AT Q @98 caIe, XA
Qg

A) 33997
B) ¥99¢q
C) xyara
D) ¥99rm

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

Isa>07
.a*"2>0
II.-2<a<?2

2

Sow
A WN

)

18) GRS ggadaca 636 aeq :
0. 06 QA4 | anAIa AR sealg asaa S6T |

9. 0@ QR4 Il ¥gfel anaue QAR ceaIq K6eia EIET |
0. 95 84! | ve* || aeag 9aI0 F2189 606@ AR QAR 699 AIE AdiIg 263 |

¥. 96 @204 | e || anag ¥9I0 A28 6069 @ AR RQQ 699! Al AYg 68 |

a>0wase@r?

[.are >0

19) Kamal kumar is 40 m south-west of Lokesh and Mohan is 40 m south-east of Lokesh. In which
direction is Mohan with respect to Kamal kumar?
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A) East

B) West

C) North-east
D) South-west

19) Qaa eI 6RIREA ¥ o fca @Ad-adaca I 6FIPR CRILRIR Yo Ava Rd-gesa gede TS | Aen grIaT 6RE Sasa
6AIDR 283 ?

A) ¥

B) 94

C) eea-g¢
D) @@s-ade

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

What is the value of 'm' in the equation x*2 + mx + 24 = 0.
|. The equation has real and distinct roots.

II. One of the roots of the equation is 1.5.

A) 1
B) 2
C)3
D) 4

20) MGG 9998a6a 696 @ag :
0. 9@ GQS! | anqya QR caalg 96218 2IET |

A& QA4 1l vqial anaus QA saa1g e BI6Y |

qn. 96 YR8 | ver || anag 110 f2Ide 6669 AR RN 699 Aie AHUIG ZI6S |
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¥. 98 Q98! | wer || aewg wa10 faIde cese @ AIAIa QR 6@ ale aTHIg Q6% |

XM + mX + 9% = 0 aanecgsa 'Mm' @ ¢l 666 ?

| acieeeq gqe v 2R qn 28 |

. acieqda 9@ aaYe 6518 62a8 ©.8 |
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which amongst the following is a pillar of education as per Delors Report?

A) Learning to inquire

B) Learning to dialogue

C) Learning to critique

D) Learning to live together

21) 62ad Qeald 2gaIn FRAME FRIQ €6 6208 JTIa 8a ?

A) A FgQ

B) @aid Sl

C) QRS @6e FYQ
D) ¥<I0 a@eiq el

22) The mental image and ideas within a person which he desires to convey and communicate is
referred to as

A) information
B) data

C) message
D) techniques

22) 966 i3 Q6 29l AIeda gead e dIQdl I9IQ 62 F4IRRIY e cAISISIS RERIR Al @9d, V121 EQIR
QLI |

A) 399!
B) @&y
C) qiau
D) 65199

23) Which of the following is an example of formal agency of education?

A) Family
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B) School
C) Theater
D) Library

23) AORGS AR 6296 J818 9! Gagie a°al ?

A) alQIQ
B) Qauiea
C) qeQ
D) auiasgea

24) The aim of education during the period 1921 and 1937 was to

A) address the disillusionment with the Western model of education

B) propagate that the educational system should attempt to train only behaviour
C) focus on quality in education and spread of mass literacy among the people
D)

discourage private enterprises from spreading western education among the people

24) e 90 4G° R OMY CIER ARG QB4 R

A) agiey daie Aseq A8¢ falglg AnRIe SRR
B) 2l gae @RI 60 d8 4eQl 609 2 190d] SIRF 6991Q 698l @GR! QIR
C) aa AR Q9 NG CRIRAINE F6Q AFAR| L6 TEa ¢If 6Q'Q

D) seaaqion aseueqdq saIedies Auea Ciiey Jal GaIq @G9Ig SIad RS

25) The distinguishing feature of which of the following test is to assess how much or how well people
can perform at their best?

A) Criterion Performance test
B) Maximum performance test
C) Norm performance test

D) Typical performance test
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25) GaAge IQ 6RQ JINEER e 6549y 6208 Y9I RN FAR! 64 EAIRMIES e AQVIQ AU 6a6e @9l 6a6e YR gade
@QaGee ?

A) FI9a8 Qidioas) aeisl
B) QeR@ QIdIe8s! aQisl
C) Q68 RI4aael aais
D) fda QdIe8e! a1l

26) Dewey's description of education is

A) Education of like children is like filling an empty pot.
B) Education is to write on the empty slate of a child's mind.

C) Education should develop the mind through experience.
D) Education is the filling of a vessel.

26) dsisq Gas 94 coeR

A) dRAIee QI F81 4@ W@ 218 @dQl ad

B) 88l 6208 9gQ AR SR ASI6R RSS!

C) 26mel ARIAGR I8l A9g FRI4 @GR 2R
D) S8l 6208 1@ AIg R

27) Which method of teaching encourages the students to view a concept not just in its entirety but

also the elements that make up that concept, while emphasizing on the fact that the whole concept
is greater than its elements?

A) Skinner conditioned view
B) Pavlov operant view

C) Gestalt holistic view

D) Bruners Discovery

27) SRI9I9Q 699 980 RISNIAE P TAEQ 6997 AFd Q6T 262 Q6 698 IR FI0R AQAUL RAINIFIFY 624 IR AATE @RI,
660696R & ARG R4l ¥LIQ AAVL0IQ 9@ 6RINAIN ?

A) Geq qaae Qi
B) aicque zisaa g

C) soaiq ange
D) 2rd 2iIR91e
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28) Hina gets very upset when she gets negative feedback on her assignments. Which of the
following actions by her teacher will help her accept feedback?

A) The teacher stops giving negative feedback to Hina and she calls her parents and asks them
to talk to her.

B) The teacher gives negative feedback to Hina only in private, she never says anything in class.
C) The teacher gives simpler assignments to Hina and gives her lots of positive feedback.

D) The teacher shows a film on how sports persons learn from feedback and then has
discussions.

28) ¢l 6Ie QIdY RUEQ ARIAIFR AGIAE CEQ 996 QYD 928 | dees QIR PAILINIQ! FgAge 6ad NG BIg ARIAE Gad
FEIea ALY A8 ?

A) 9@ 8015 ARINUAR AFINE 6991 98 @RQ2E 1 6d QI TOIKIQIG GRS I QIk A2 @l 629lg 9e8
B) F9G 6RO QIFEE AUREA BRIF PRI FSIFE G2E, 69 55616Q 6R6RE &8 998 fla
C) %8R oqIq Ao Ay GAB 9E° BIG 2ERR VAR ABIAG §2AF

D) gederier Aeireq Fad §98 sa Fanse dae 1@ eRfe 6QGIE ue or'dse 64 SVAER 2INSRI FaE

29) To get any school information a U-DISE code is used in India. What does U-DISE stand for?

A) Unified District Information on School Economy
B) Unified District Innovative School for Education
C) Unified District Information System for Education
D) Union of District Important Society of Education

29) DIQG6R 69616 Y ORI IR UIR 9e° P-GARIQR (U-DISE) 6219 24929 @UQINI g-621ada
(U-DISE) @@6m @'€ Q&I7?

A) gRTNQ $8] ARTEAAR 2] YN R6RIEAH

B) 93Ng $8Q A6R1605 M TQ 9G6aAR

C) gRaNe 68q aqaeraq A8 I6 9gead]

D) giaq ag 08 A6SIE 6QIANG BT IEaAR]

30) Which of the following statements show the correct relationship between Teaching and Learning?

A) Learning needs a formal setup while Teaching can happen either formally or informally
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B) Teaching needs a formal setup while Learning can happen either formally or informally
C) Both Teaching and Learning needs a formal set up always
D) Both Teaching and Learning needs an informal set up always

30) GaRge QOIgFe AuUQ 6968 ANIRIe Ve Jal Ausa A0R Ade QdiM

96 N8 AQURR Megl 2INEYR FQaALIEese due GO Gnl A6FINNRe AINEa ARAICH
JARR 9K QIR MY AR FAIcasR G838 GAFIAR F7 26FTARR WUNER 6LRAER

)
)

C) eee daqe 9o da asel e BO0IGe QY 2SR FEQ
) Q89 JRRIQ 96 J8 AR 99 AUCHITAAR Q| 2R FEQ
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31) '0QQf 9aQ 28 2'9?

A) @°q@ Q6er AR
B) giqe aser aai@
C) aim Q6w QI
D) zagra Q6er 9019

Section 5 - Paperll-Odia Lanquage

32) aqisie aaad g2 406 674 2Iga SI9IQ FQAIRE ?

A) ‘e uig
B) ‘% g
C) ‘qug

D) ‘@ &g

33) 696l @ 9@ TIQ A AAGR ORI FiER FIRIG &'E gRIAN ?

A) aqide!
B) zaqidsql
C) wae

D) ediGa

34) ‘age’ dea FAQIdeae a8 <18 |

A)
B)
C) 7ga
D) &

adiemia
ARIERIR

35) QQ2ER IR FI0aQ AR QNG @&7?

Page160f40

No. of Questions: 15
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A) dig
B) geua
C) Ga@
D) ae

36) AYR QIQLS QY FR5Q 7R Ad6q @ AReRe ATE?

A) 28 2RaQ
B) 28 Qeqion
C) 28 a°gaIas
D) zglieas

37) g6Ld+aa = ‘gI6eda’ 9068 1990 ‘Aa’ goia 694 26 YLLe ?

A) a4 zdea
B) &1dai 21deq
C) ane 2dea

D) aq adsa

38) ‘@ol @106 0§’ QFQ 2 FaUd @ |

A) f926a agel

B) 2869 a@e

C) AIaigq geg

D) Q09q 622G 2149

39) ‘agal’ 2dq @42 QI 9F F9U8 K |

A) dieal

B) <8l 018Q
C) ¥ eaiewsl
D) e@isie

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

40) F6QIB AIQ 629 RATER FEATY AQ AV ALQEA LS 61T ?

A) gg1 219
B) qra &2
C) 23 o9
D) g1ael qig

41) ‘ad’ 99Q ARG §8 QUL |

A) %
B) i@
C) é1ay
D) @9

42) GRG6Q 699 JRIQ I F0R 983 2GR F6a50 caIRAN?

A) Q6a4Q TSV
B) Q669619 G683l
C) 426Q 9oIAYS2!
D) 9qIee° frIQ 6995 & 9F

43) aQauigieq Qa8 60 ‘@2’ golage Iedq QIg |
A) ssieia

B) Qi@

C) eIzl

D) aai@a

44) 2R e FRR A9 — 0I6Q @ gRIQ F64T8 JEIG RAUAIRNE ?

A) g€
B) @aie
C) aegiQioa
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D) agq18e199

45) ‘9gIQ’ 99 AANLCIARIF IR UL |

A) 9G
B) ¢a¢

C) @ adel Gea
D) 6ala®
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) A number x is 3 times of the other number y. If the sum of both the numbers is 40, then that is
the value of x?

A) 10
B) 20
C) 30
D) 40

46) 661G ol & ARY 9@ T § Q N Sl A6E | AT AR LLHIQ BASTR B0 99, 686Q T @ FIIR 666 ?
A) 10
B) 20

C) 30
D) 40

47) What is the area of the rhombus whose perimeter is 40 cm and the length of one of the diagonals
is 16 cm?

A) 192 sq.cm
B) 92 sg.cm
C) 96 sg.cm
D) 160 sg.cm

47) o 6aF a@Al ¥e* €9 6af @¢ A8 Y@ 6QUAD Q CHYTR 6RES 699 ? 7

A) 192 od ead
B) 92 adi eafl
C) 96 adi eafi
D) 160 a4 ead

48) If the sum of two numbers is 25 and their HCF and LCM are 5 and 30 respectively, then the
square of the bigger number is
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A) 196
B) 225
C) 256
D) 400

48) 0f QaF wrea A8 25 99 ¥ 6Q7IEa 6Alg 9 AAlg A2Ieea S ver 30 94, 6669 Q20 TR A6 6208

A) 196
B) 225
C) 256
D) 400

49) The selling price of 3 toys is equal to the cost price of 4 toys. What is the percentage of profit
gained?

A) 33.33%

B) 25.00%

C) 20.00%

D) 16.66%

49) 36 c8a91a 8@ g 43 6H4RFIQ R0 FJAY ADE AR | 696@ 6RES JERE AR 6R1a8 ?

A) 33.33%
B) 25.00%
C) 20.00%
D) 16.66%

50) The system of linear equations x + y = 6 and 2x + 2y = 10 has

A) Unique solution

B) No solution

C) Three solutions

D) Infinitely many solutions

50) x +y = 6 39er 2X + 2y = 10 @ 664190 aMea8gaaa Aaa 19l 028

A) R84 AaRIS
B) 6@161@ Qelialie @&
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C) 96QI6 annae
D) 2Qi¢1 269Q AFIRIS

51) ABCD is a cyclic quadilateral inscribed in a circle with center O. AC is the diameter of the circle.
What is the measure of the angle ZABC?

A) 100°
B) 90°
C) 80°
D) 75°

51) ABCD s2ef 9@ 0qe61 0@ae aiel O sag 29l 9@sa 2eqdie s21ad | AC c2af @@ qual saldl LABC o adqia ease
6997

A) 100°
B) 90°
C) 80°
D) 75°

52) Which is the third least number, which leaves a remainder 8 when divided by 9 and leaves a
remainder 5 when divided by 6?

A) 17
B) 27
C) 53
D) 71

52) 6aad 6208 610 a99¢ ey, A91@ 9 QI 609 aAIERER AGsHY 8 ase ¥e B QIal f0 GRIEEsH AITEaa 5 ase ?

A) 17
B) 27
C) 53
D) 71

53) A retailer bought a used T.V for ¥ 2,500,spent 800 on repairs and sold it at a gain of 10%.The
selling price of the T.V is

A) 23,630
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B) ¥ 3,720
C) ¥ 3,840
D) % 3,960

53) @68 goal eueai T 2500 sa 6qiG4 5.8 ddasa, aaad aie T 800 ¢ adesa ve° valg 10% aesa 8@ adasal §.6a
QR4 Y c9ad

A) Z 3,630
B) % 3,720
C) 3,840
D) % 3,960

54) Ratio of the ages of Sam and Alex is 4:5. Which among these options could be the ratio of their
ages after 20 years?

A) 5:6
B) 3:4
C) 35
D) 1:2

54) aiq wer 2icRgs @09 Ao 62a8 4: 51 1@ 3a2g9ee g 6066 20 aF U6 6AFINE QAAR ALUS 62RAER ?

A) 5:6
B) 3:4
C)3:5
D) 1:2

55) Which of the following set is an example of empty set?

A) Set of even prime integers

B) Set of whole numbers which are not natural numbers
C) Set of integers which is neither positive nor negative
D) Set of postive prime integers less than 2

55) dq@ee 696 F11IQ 6a46 994 696 @ ARG 266 ?

A) 99l 671Re gd rena 626

B) ‘E]éﬁ LHUGYFIQ 69 L9 YD el 6T
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C) gd wana sas a9l URIER 268 b QIR g6s
D) 2 g engs AQIAR 67iRe g4 e sas

56) Which is the least number that should be subtracted from 1,000, so that the resultant number
will be a perfect square?

A) 31

B) 33

C) 37

D) 39

56) addq) 6a@ aral 1,000 g Seaig @QIAIRAIRR, AIYTRER FAQEQI el 9@ gd 96 689 ?

A) 31
B) 33
0)57
D) 39

57) 4 unit circles are drawn inside a cirlce such that each unit circle touches the other two

neighbouring unit circles and also touches the boundary of the major cirlce. What is the area of the
major cirlce?

A) (4+2Y2)T sq.units
B) (3+2V2)1 sq.units
C) (6+4~2)1r sq.units
D) (4+2V3)Tr sq.units

57) ¥ ¢ Q& 6915 9@ Q@ F1:I6Q TR GIER 2rae 62INE 60 J6Ia Q@ e AIgea 81 294 Qa6 QR g 94 @A9l 42 98 QR AIAIY
Q12 Q6 REQ | 9G QRQ VGTR 6FEH 689 7

A) (4+2Y2)T od gas
B) (3+2V2)TT od gde
C) (6+4\2)1r o4 g7
D) (4+2V3)TT od gis
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58) The number of chocolates with Smitha and Geeta are in the ratio 3: 4. If Neeta gives 10

chocolates to both, then the ratio of the chocolates with them will become 5:6. How many chocolates
did Smitha has?

A) 15
B) 18
C) 21
D) 24

58) gol ue* a1eie aiger cemisas 3! 4 AgUIesa 28 | 99 2161 anaqg 10 § cerlsas GA8, 606@ 6QAIRT AIHER &Ql FERIERTR
2gaIe 5. 6 621049 | 6669 JoIF TISER 6RES GERIENS &ml ?

A) 15
B) 18
C) 21
D) 24

59) If B and C are equal sets then which of the following will be true always?

A)(AUB)#(AUC), (ANB)#(ANC)
B)(AUB)=(AUC), (ANB)#(ANC)
C)(AUB)#(AUC),(ANB)=(ANC)
D)(AUB)=(AUC),(ANB)=(ANC)

59) & B 4e° C ar1% 636 6669 SRS AUQ 6946 AGG| 964 699 7

A)(AUB)#(AUC),(ANB)#(ANC)
B)(AUB)=(AUC), (ANB)#(ANC)
C)(AUB)#(AUC),(ANB)=(ANC)
D)(AUB)=(AUC),(ANB)=(ANC)

60) Square 'A' has an area of 100 sq.units. Area of another square 'B' is 69% more than that of

square 'A'. By what percentage, the side length of square 'B' is more than that of the side length of
square 'A'?

A) 50
B) 30
C) 20
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D) 10

60) edsag 'A'a sagae 100 @dgae | aay ¥a adetaa c8eaa 'B' @d ' A ' garise 69% 2iie 688 1 adsae 'B' a aig an
qoemg 'A' Q alg an 01q 6R66 9od6 A8 ?

A) 50
B) 30
C) 20
D) 10

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 7 - Paperll-Social Science

No. of Questions: 15

61) The coldest of all biomes that has low temperature and low rainfall is

A) Tundra

B) Savanna

C) Northern Coniferous Forest
D) Tropical Rainforest

61) a9 SIAIgI e /F QAIS 29I AQVIQ 1R 67968e 6208

>

2

@
AR

QAR 95 96
D) esesienia edied

)
B)
C)

)

62) Read the following statements and choose the CORRECT option.

(i) The mesosphere layer of Earth's atmosphere starts just above the stratosphere and extends to
85 kilometers (53 miles) high.

(i) Aurora and satellites usually occur in this mesosphere layer.
A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE

C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

62) Q69198 QRAYLY 99g 9e° O] 9a8 0UR @9gl

(i) 92919 QIYFSRA 676QAIATAQ IQ FEFIARTR OIQ AR 621 85 FERAIFER (53 FIAR) AVEQ T3 |

(i) A6QUA MQ° QUYL ARIASIGE I 6716QIATARQ SRR AT |

A) (i) Qo4 266 9Q° (ii) Ao 26T
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B) (i) ey &6e 9&" (i) 2AY 26T
C) (i) aQeM 26T 9e° (i) AM &6Q
D) (i) aaey &6e 9e" (i) A9 26T

63) Which Article empowers the President to appoint the PM of India?

A) Art 74
B) Art 75
C) Art 76
D) Art 77

63) 604 2gYe1 AUV QAR UIRART FYB REAIG VA AR F6Q ?

A) 8991 9%
B) 2291 98
C) 2898199
D) 29961 99

64) The Kalibangan site of the Indus Valley Civilization is situated on the banks of which river?

A) Brahmaputra River
B) Narmada River

C) Ghaggar-Hakra River
D) Tapti River

64) 99 QAR ANGIA FINSLIR AR 69 Qa1 WER! 2QES 263 ?

A) 99HE @
B) @¢IGI 991

C) Wolp-¥Igl @<
D) @1 @@1

65) Which year was declared as the second International year of the Reefs?
A) 2006
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B) 2007
C) 2008
D) 2018

65) 629 9d @ AT YO19 BIBFISIA @F QINER 6LITS FAUSR! ?

A) 9002
B) 9009
C) 900l
D) 9oer

66) The thickest layer in the atmosphere of Earth is

A) Stratosphere
B) lonosphere

C) Troposphere
D) Thermosphere

66) 92/a1a QIALRA 66161 IQ 6268

A) g65139Q
B) a106e@daa
C) geaidaq
D) eicdi@eq

67) Dr Ambedkar referred which Fundamental Right as the heart and soul of our Constitution?

A) Right to Freedom of speech and expression
B) Right against exploitation

C) Right to Equality

D) Right to Constitutional Remedies

67) 0QQ U6ALRa 6RQ 6FIRR 2AIAG 2IF AAUIFQ 2RO 96 27 6RIR AR A8 ?

A) Q2QY IS ARRIIQ AU LI

B) 641196 YEARIER 2RIFIN
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C) QI8! 2URIQ
D) ARAIFR YoRIan 2IRIQ

68) Equal pay for equal work is a that guarantees equality before law.

A) Fundamental Rights
B) Fundamental Duties

C) Directive Principles Of State Policy
D) Statuary provisions in Labour Law

68) anIe QI9 IR AAIR PRI 6228 @ AATUTAATAT 1P ARG 2GR ARG IFLE @64 |

A) 6417 2NN

B) 6flae aeiey

C) Q4 916Q Geaeqiel
D) <61 ARNFER I QYUY

69) The imaginary line of latitude on the Earth that divides India into almost two equal parts is
A) Tropic of Capricorn

B) Equator

C) Tropic of Cancer

D) Arctic Circle

69) geeea 2Braa @891 6adl JI2I AINe] JIX QA% AFIL AICER FES F6Q GI9l 62a8

A) (29918
B) @g< 699l
C) a99918
D) Q@69

70) Who issued an inquiry into the massacre of Jallianwala Bagh by British Govt.?

A) Lord Irwin

B) General Dyer

C) Hunter Commission
D) Simon Commission
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70) 854 deaas Qo RIRALGR AU LRURIE FIAEA @4 092 2D FARTA ?

A) 96 a6Ge
B) 69690IR @196
C) #oa atiae

D) aipag @dee

71) Who among the following was one of the nine jewels of the emperor Akbar's court, and greatly
contributed in fixing the land revenue system?

A) Udai Singh

B) Raja Todarmal
C) Chandra Sen
D) Faizi

71) GORYS CRIQ A9 AFIT ARGAT 6RITQ FAT URFTIQ AUQ F6S 2R IS GF AR MY PIARIER @
QALEAIS FQEEM?

A) aeg @

B) qigl 6c1e@eR
C) og 6aq

D) 63&

72) In which of the following years was the theme for Earth Day, "End Plastic Pollution"?

A) 2016
B) 2017
C) 2018
D) 2019

72) Geq)e @dgaa f2Q 6Re56a Qa1 9od aial 2f gal, “ e Jae aQuaR” ?

A) 909
B) 90¢9
C) 90er
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D) go0R¢C

73) The Commission that suggested that the Governor of a state should be a politically detached,
eminent person from outside the state?

A) Rajamannar Commission 1969

B) First Administrative Reform Commission 1966

C) Sarkaria Commission 1983

D) National Commission to review the working of the Constitution 2000

73) 964 ARNAING QARY A0Q ANCHER QE6RINQ AFF, AMRE S 6241 2RSS 6N 6RA BICAIG AN 6988 ?

A) QRAIPIAQ adFF e 9

B) 929 99IAFe TUR EHET R 99

C) IR @18 T

D) I96 @I9I8 aAI8 @ARIq PIB1E BI6AIS 9000

74) If it is 12 noon at GMT, what will be the time of Thimphu (Bhutan) located at 90 degree east
longitude?

A) 6.00 AM
B) 6.00 PM
C) 5.00 AM
D) 5.00 PM

74) o 4aGea A € 9 61 621REIN, Co g1 ge QIdnea 2ede &g (YFIR) 66 AAA 6R6E 629 7

A) 5.00 AM (a@lp 61)
B) 9.00 PM (zaqig 961)
C) 8.00 AM (aQIp 861)
D) 8.00 PM (zaqig 8c1)

75) Who handed over the charge of INA to Netaji Subhash Chandra Bose?

A) Mohan Singh
B) Rash Behari Bose
C) Mahendra Pratap
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D) Hari Dayal

75) G 600191 gI¥ 08 69195 2INIGNQ QIUQ 2918Q Fd6n ?

A) 6q1ee &

B) &8 GeIq1 6918
C) 1622 geIo
D) 28 eaia

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following catalyst is used in the conversion of SOz to SOs in the contact
process?

A) MnOz2
B) ZnO:
C) V20s
D) Cr20s

76) a#e g@aica SO2 @ SO3 a QuIsadsa FQRYe A9RAEI FUQ 6846 QU9 297

A) MnO:2
B) ZnO:
C) V20s
D) Crz20s

77) What will be the percentage of unoccupied space in a unit cell forming a body centered cubic
lattice?

A) 68%
B) 74%
C) 26%
D) 32%

77) 9% 9910g 6066 3@ ARG G0R AQER! UG PRT 6RIT6R AGTA0e Jaa I0a¢] 6060 68 ?

A) 68%
B) 74%
C) 26%
D) 32%

78) The Kilowatt-hour is the unit of

A) time
B) power
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C) energy
D) force

78) @6RIQIS-A4 RITQ AQAAR

A) aag
B) aiqiely
C) a3
D) o@

79) Antibiotics are the most effective on

A) Bacteria
B) Fungi

C) Viruses

D) Protozoans

79) 2réQisade ¥8ea AQ0IQ AR GRS

A) Quiexell
B) gea

C) @eeq
D) 6416616wIq

80) The mode of cross-pollination in Zostera marina is

A) Anemophily
B) Ornithophily
C) Entomophily
D) Hypohydrophily

80) seIcaaI AIRGIER RA-TRCEYR 6¢1IQ 62Q@

A) 082196l
B) adsaIda
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C) wecisaidm
D) 2I6QIiaeaIda

81) Which of the following are the reactions taking place at the two electrodes when CuSOQOs is
electrolysed using Cu electrodes?

A) At the anode Cu?* is reduced and at the cathode Cu is oxidised

B) At the anode Cu is oxidised and at the cathode Cu?* is reduced

C) Atthe anode O:is liberated from water and at the cathode Cu?* is reduced
D) At the cathode Cu?* is reduced and at the cathode Oz is liberated from water

81) Cu asasqie eyeeia @d CuSO4 R6asniae 621RQI6R60 906 RENSRIS 68 AR FQ 694 go@al aded ?

A) zisaie Cu?t ca 21a 29 4 qusele 6a CU 6 a§eiae 99
B) @iseie 60 Cu g 2@eiae aauan e qyseie 6o CuZ*ada
C) @isnie sa O2 60 9nq 99 249 ¥e* quseie 6 CU?* ca afdlg

D) suicaie 6a Cu?* 21a 94 9e° quicel@ 6a O2 66 899 g8 99

82) What is the effect of temperature on viscosity of liquids?

A) Increases with temperature
B) No effect of temperature

C) Initially decreases then increases with temperature
D) Decreases with temperature

82) cara A9l 296a GIFAIRIR 9RIS @4 6RIRAINM ?

A) cleaigl a8¢ 9f a9
B) claqigia 6@163 gale QIE

C) d1en6a 91d 24 616Q SIaAIgl A86 QF 29
D) e1aqig! aee 219 €9

83) The Sl unit of force is

A) Coulomb
B) Kilogram
C) Ampere
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D) Newton

83) 9P Ya® 6248

A) @]
B) @emig)iel
C) w#aQ
D) Gaeq

84) The Phosphatase test is used in the analysis of

A) water
B) milk
C) tea

D) copper

84) 9ia F6¢8€60 TATIEER T8I 6Q MRYE 24

A) 89
B) &1&
C) a@l
D) o7

85) The tiny hair like movable protoplasmic projections outside the surface of the cell is

A) stroma

B) grana

C) dictyosomes
D) cilia

85) 62190 g6 0AaIR 6I6SIYPIAR 69169aAR I8 FQ 6R990R 6998

A) 68l

B) Qe

C) €6q6917)
D) d@sl
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86) Read the following statements regarding thorns and choose the CORRECT option:

A) It helps the plant to climb up and coil around any object
B) It protects the plants from grazing animals

C) It helps in providing mechanical support

D) It helps in storage of food

86) arel anaia FAge @6 JGQ aeq e A0R 5 cieg :

A) 92 @80 60 6TI6Q 9gq AUAY OFTA IS 9 CIRUEE YRAISQ AL K6
B) @ AR0YEq 9g 96l 0Ig a8l QAN

C) 92l QI3 221961 6AINIRER ALIM @6

D) Y2l $IY CaREea AL FEQ

87) What will be the empirical formula of a crystalline compound constituting of atoms Y forming ccp
structure and Z which occupies a forth of the octahedral voids?

A) ZY2
B) ZYs
C)ZYs
D) YZ4

87) aeqig & aoe @gael CCP @reeql ue Z @ 6218 6210801 4@ 360 6d15aa ae18iges 9 @4 620 9| ZRIELLIR AeR 19
QUGER QReld ?

A) ZY2
B) ZYs
C)ZYs
D) YZ4

88) A rifle fires a bullet of mass 25 g with a velocity 1600 m/s. The man holding it can exert a
maximum force of 160 N on the gun. How many bullets can he fire per second at the most?

A) 2
B) 3
C) 4
D)5
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88) @ Q@9& 25 g Be9a Y@ gag 1600 m/s AG6R96a JON | N2Iq 4RSI 4B @ge QJ6x 160 N @
QIRIP @R 6T AAAIRER | 66 9F 696015 I 6! AIKARR ?

A) 2
B) 3
C)4
D)5

89) Carbon Dioxide produced in our body are mostly transported as ;

A) Bicarbonate
B) Carbide

C) Amylase

D) Carbon

89) aie 901060 AT AFIORIF, Y968 999909 AIRER AGeeq seiqeld |

A) SIRRIERIEas
B) @Idiae
C) udiead

D) qiag

90) Which of the following is a function of Plastid?

A) Oxidative phosphorylation
B) Photosynthesis

C) Autolysis

D) Intracellular digestion

90) FqRge FIQ 6968 Q3ea @Iy ?

A) 256000 TASTINERAR
B) 2I6M& 6486

C) Z6sInIada

D) 6719 F1I6Q 2841

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Question Paper No: 62419 33
Answer Key
1B 31 A 61 | A
2| B 32| B 62 | B
¥ G 331 A 63 | A
4D 34| C 64 | C
S|A 351 A 65| C
6|A 36 | A 66 | D
7| C 37| € 67 | D
8| B 38| A 68 | A
9B 39| A 69| C
10| D 40 | A yitdl &
11| B 41 | A 71 | B
12| D 42| B 72| T
13| C 43 | A 73 | C
14| C 44 | D 74 | B
15| D 45 | C D |-B
16 | D 46 | C 76 | C
17 | A 47 | C 77 | D
18| D 48 | B 78 | C
19 | A 49 | A 79 |-A
20| B 50| B 80 | D
21| D 51| B 81 | B
22 | & 52| C 82| D
23| B 531 A 83| D
24| C 541 A 84 | B
25| B 55|D 8| D
26 | C 56 | D 86| B
27 | € 57| B 37 | €
28| D 581 A 88 | C
29| ¢ 59| D 89 | A
30| B 60 | B 9 | B
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